4900 Series Removable Mullions
Il HAGERG Installation Instructions

COMPANIES I'ED01037

DEVICES COVERED IN THIS DOCUMENT:

e 7’ (84”) Non-Keyed Removable Mullion Primer Coat USP e 7’ (84”) Keyed Removable Mullion Primer Coat USP
e 8 (96”) Non-Keyed Removable Mullion Primer Coat USP e 8 (96”) Keyed Removable Mullion Primer Coat USP
e 10’ (120”) Non-Keyed Removable Mullion Primer Coat USP e 10’ (120”) Keyed Removable Mullion Primer Coat USP

e 7’ (84”) Non-Keyed Removable Mullion Fire Rated Primer Coat e 7' (84”) Keyed Removable Mullion Fire Rated Primer Coat USP
USP

e 8 (96”) Non-Keyed Removable Mullion Fire Rated Primer Coat e 8 (96”) Keyed Removable Mullion Fire Rated Primer Coat USP
USsP

}
Tj:
=|

— L

iy I
U
n
]
U
f I
"
]
{ ]
!
i
i
iy ]
L

(] = i — m

=1 | Im—

] ./ e

1}

i Il
iy I
[}
[
y ]
iy I
1}
(]
!
!
[]
[}
iy I
U

[}
| - o——— | [

Il

[]
I
[} |

Al |

Rev 3, Rev Date: 07/31/2020 Page 1 of 10
Hager Companies 139 Victor Street, St. Louis, MO 63104 (800) 325-9995 www.hagerco.com




Il HAGER

COMPAMNIES

4900 Series Removable Mullions
Installation Instructions
I-ED01037

Non-Keyed Removable Mullion (4900U)

o | ary. DESCRIPTION
1 1 Mullion Bottom Bracket
2 1 Mullion Top Bracket Assembly
3 2 Top Bracket Shims (5/8in long) for
5/8in stop
4 2 Top Bracket Shims (1/2in long) for
1/2in stop
5 2 Bottom Bracket Shim
6 1 Mullion Post
7 2 Sleeve Nut, 1/4"-20 X 1 5/8"
9 4 5/16"-18 x 5/8" Flat Phillips Head Cap
Machine Screw
10 2 5/16"-18 x 1-1/2" Flat Phillips Head
Cap Machine Screw
11 1 Top Fitting of Mullion Tube Assembly
12 2 #10-24 x 3/8" Flat Phillips Head Cap
Machine Screw
13 4 5/16"-18 x 1-1/2" Flat Socket Head
Cap Machine Screw
14 1 3/16" Hex Wrench
15 4 Mullion Bottom Bracket Anchor
16 1/4"-20 x 1-1/4" Flat Phillips Head
Machine Screw

Rev 3, Rev Date: 07/31/2020

Page 2 of 10

Hager Companies 139 Victor Street, St. Louis, MO 63104 (800) 325-9995 www.hagerco.com




HAGE Re Installation Instructions

I 4900 Series Removable Mullions
COMPANIES I'ED01037

Keyed Removable Mullion (4900X)

ITEM NO.|QTY. DESCRIPTION

1 1 Mullion Bottom Bracket
2 1 Mullion Top Bracket Assembly

Top Bracket Shims (5/8in long) for 5/8in
3 2

stop

Top Bracket Shims (1/2in long) for 1/2in

4 2 stop

5/16"-18 x 5/8" Flat Phillips Head Cap

5 4 Machine Screw

6 2 5/16"-18 x 1-1/2" Flat Phillips Head Cap
Machine Screw

7 1 Top Fitting of Mullion Tube Assembly

8 2 Bottom Bracket Shim

9 4 Mullion Bottom Bracket Anchor

10 1 Mullion Post

12 2 #10-24 x 3/8" Flat Phillips Head Cap
Machine Screw

13 2 Sleeve Nut, 1/4"-20 X 1 5/8"

14 4 5/16"-18 x 1-1/2" Flat Socket Head Cap
Machine Screw

15 1 3/16" Hex Wrench

16 1 Cylinder Retaining Cup Assembly

17 1 Cylinder Collar - 12mm

18 2 1/4"-20 x 1-1/4" Flat Phillips Head
Machine Screw

Rev 3, Rev Date: 07/31/2020 Page 3 of 10
Hager Companies 139 Victor Street, St. Louis, MO 63104 (800) 325-9995 www.hagerco.com



HAGE Re Installation Instructions

I 4900 Series Removable Mullions
COMPANIES I'ED01037

4900 MULLION SCREW CHART TOP BRACKET INSTALLATION—SEE STEPS 1 THROUGH 3

5/8" long Top Bracket Shim
- For use on 5/8" frame stop with 5/16"-18 x 1-1/2" FHMS
shown below

1/2" long Top Bracket Shim
- For use on 1/2" frame stop with 5/16"-18 x 1-1/2" FHMS
shown below

5/16"-18 X 5/8" Flat Head Machine Screw
- For direct mounting to soffit

7

5/16"-18 X 1-1/2" Flat Head Machine Screw
- For use with top bracket shims on narrow soffit applications

DO

CONNECT TOP FITTING AND MULLION POST— SEE STEP 4

'IHHHHHHHHHHHHNH\HIHIHHHN 1/4"-20x 1-1/4" Flat Head Machine Screw

' — 1-5/8" Long Through Bolt

O ®

CONNECT TOP FITTING TO TOP BRACKET—SEE STEP 10

&b

|D]ﬂﬂ]mﬂm #10-24 x 3/8" Flat Head Machine Screw

BOTTOM BRACKET INSTALLATION—SEE STEP 8

!

AR IRTHR
(L i
W
H ll'lu'll'll'\lll Ll'lu'll'll

i
|
Ih' NN

.||-| |I ]|1|
\'llll‘ullllullu
‘ H 5/16"-18 Anchor

5/16"-18 x 1-1/2" Flat Socket Head Cap Machine Screw

© ©

Rev 3, Rev Date: 07/31/2020 Page 4 of 10
Hager Companies 139 Victor Street, St. Louis, MO 63104 (800) 325-9995 www.hagerco.com



4900 Series Removable Mullions
HAGERQ Installation Instructions
I-ED01037

COMPAMNIES

CYLINDER INSTALLATION: KEYED REMOVABLE MULLIONS (4900X) ONLY

A. Remove the four M4 x 0.7 x 8mm Flat Phillips Head Machine Screws that hold the Back Bracket onto the Top Fitting. Re-
move the Back Bracket. (Figurel)

B. Remove the three M4 x 0.7 x 6mm Phillips Custom Head Machine Screws that hold the Actuator Plate onto the Top Fitting.
Note: If replacements screws are needed, M4 x 0.7 x 6mm Pan Phillips Head Screws are an acceptable alternative. (Figure 2)

C. Slide Cylinder Collar onto RIM Cylinder body. (Figure 3)

D. Align the Cylinder Tailpiece with the Cylinder Cup Tailpiece Guide Housing. Slide the Cylinder Cup over the RIM Cylinder.
Install the Breakoff Screws that came with the RIM Cylinder. Break off the screws to the appropriate length to ensure that
the Cylinder Cup tightly holds the RIM Cylinder to the Top Fitting. Be careful not to overtightened the screws to the point
that they restrict RIM Cylinder Operation. (Figure 3)

E. Reinstall the Actuator Plate making sure the RIM Cylinder Tailpiece mates up with the Hub on the Actuator Plate. Reinstall
the three M4 x 0.7 x 6mm Phillips Custom Head Machine Screws to secure the actuator plate. (Figure 2)

F. Reinstall the Back Bracket by reinstalling the four M4 x 0.7 x 8mm Flat Phillips Head Machine Screws. (Figure 1)

G. Ensure proper operation. Turn the Key in the RIM Cylinder. It should rotate smoothly and when the key is turned in either
direction the Actuator Tab on the Top Fitting should raise up. (Figure 4)

_ M4 x 0.7 x bmm
Back Bracket M4 x 0:7.)( 8mm Phillips Custom
Flat Phillips Head Head Machine
Machine Screws
Sy Screws
¢ ®
--cf) P
o Actuator Plate
S - ""““"E@
o
U [
p ................. -
p.._.. = =
Figure 1
Figure 2
Cylinder Cup
Actuator Tab
Breakoff Screws
Figure 3
Figure 4
Rev 3, Rev Date: 07/31/2020 Page 5 of 10

Hager Companies 139 Victor Street, St. Louis, MO 63104 (800) 325-9995 www.hagerco.com



4900 Series Removable Mullions
Il HAGER® Installation Instructions

COMPANIES I'ED01037

STEP ONE

Measure and mark the center of the width of the door opening at the soffit and at the floor. Be sure the door edges meet at

this centerline. Mark Centerline on Frame

CENTERLINE
OF OPENING
< n Il =& ] [
[ [r ™ 1 |
P

) T N sOFFIT

oo \TOP BRACKET
(0]
® £
! \ E
c
(7]
TOP FITTING ©
™ (=)
s £
[l | = c [T 1]
ol g
1 o) L:.
=l
/MULLION POST §
__7L_ =
__7L_ =

/BOTTOM BRACKET
FLOOR I

Mark Centerline on Floor

STEP TWO

Measure and mark a centerline on the width of the top bracket.

IN\—Mark a centerline
on the top bracket.

Rev 3, Rev Date: 07/31/2020 Page 6 of 10
Hager Companies 139 Victor Street, St. Louis, MO 63104 (800) 325-9995 www.hagerco.com



4900 Series Removable Mullions
Il HAGE R@ Installation Instructions

COMPANIES I'ED01037

STEP THREE

Align, mark hole locations, and install top bracket:

A. Align the mark from Step 2 with centerline marked in Step 1.

Close the doors and butt the top bracket up to the face of the door.

Mark the four hole locations, dependent on your frame construction (see figures below)
Drill and tap the soffit at the four hole locations for the 5/16”-18 machine screws.

moow

A standard door frame or narrow stop frame will require the use of cylindrical shims, both 1/2” (13mm) and 5/8” (16mm)
shims have been included.

F. Refer to the illustration that matches your application (narrow or wide stop) and install the top bracket using the 5/16”-18
machine screws and shims (if needed).

DOOR FRAME WITH

NARROW STOP REINFORCEMENT

SHIMS
(1/2" OR 5/8")

SOFFIT ~
SIDE VIEW
5/16"-18 X 1-1/2" LONG 5/16"-18 X 5/8" LONG
FLAT HEAD MACHINE SCREWS FLAT HEAD MACHINE SCREWS
(2 PLACES) (2 PLACES)
FOR WIDE STOPS, IF THE OUTER MOST FOR WIDE STOPS, WHEN POSSIBLE USE THE
MOUNTING POINTS INTERFERE WITH THE OUTER MOST MOUNTING POINTS.
EDGE OF THE STOP, USE THE MIDDLE ~5/16™18 X 5/8" LONG MACHINE SCREWS
MOUNTING POINTS. (4 PLACES)

- 5/16"-18 X 5/8" LONG MACHINE SCREWS
(4 PLACES)

Rev 3, Rev Date: 07/31/2020 Page 7 of 10
Hager Companies 139 Victor Street, St. Louis, MO 63104 (800) 325-9995 www.hagerco.com



4900 Series Removable Mullions
Il HAGE Re Installation Instructions

COMPANIES I'ED01037
STEP FOUR
Attach mullion top fitting to the mullion post. Secure the two
together with the 1/4”-20 machine screws and through bolts (2).
Top Fitting
e L
‘ 1/4"-20 x 1-1/4"
6’ Flat Head
Machine Screw
0 i Through Bgt
‘ ‘ 5 | g
0 ‘ -0

J

STEP FIVE

WARNING: If there is a threshold, be sure to cut the threshold so that the mullion bottom bracket can be installed directly on
the floor.

STEP SIX

Trial fit the mullion:

A. Position the bottom bracket on the floor in line with the centerline marked in Step 1.

B. Insert the mullion post into the bottom bracket and pivot the top end into the top bracket. Close the doors and align the
mullion post so it is up against the doors.

C. Align the notch in the bottom bracket with the centerline marked on the floor in Step 1.

Cutaway shows
mullion post inserted

.I ¢ 4 / into bottom bracket.

N
s
\
N
:

I

®

| n_ Ly n
L ‘ /—5/16 18 x 1-1/2" Bolts (4)
Top Anch ded

Pivot mullion post into place to ® /Flttmg dQ;egai‘;sg %ietyepe of
check post length, mark | Floor floor or threshold.
centerline position, and mark ® ! Masonry anchors

bottom bracket hole locations. provided (4).

Door =

Mullion
Post
BE CAREFUL!

Mullion post is not
secure at this stage

of the installation. - %2 - e e s
Door | ‘
| | |

; i ; Add Shims to adjust

g?g;i;nt : : /height (2 provided).
s Floor_/ u u
Floor
Rev 3, Rev Date: 07/31/2020 Page 8 of 10

Hager Companies 139 Victor Street, St. Louis, MO 63104 (800) 325-9995 www.hagerco.com



4900 Series Removable Mullions
Il HAGER Installation Instructions

COMPANIES I'ED01037
STEP SEVEN
Soffit:
If the mullion post/top fitting assembly fits, skip to the 07
next step. If it is too long and will not fit into the top 1L0
bracket, use the formula shown to the right to cut the mul- (1]
®

lion to the proper length. Take the height of the opening, | !
which is from the soffit face to the floor, and subtract 1- ® | Top Fitting
7/8” (48mm). This will be the cut length of the mullion ®

If the Mullion Tube & Top Fitting
assembly. Be sure to cut from the bottom end of the mul- ® Assembly are too long, use this formula

to calculate the length:
lion post. The top end will have the fitting attached from ® Ty
Step 4. - 1-7/8"

H = C (cut length of Assembled Mullion*)
* Assembled Mullion is the Top Fitting
and Mullion Tube together, already bolted.
___7/4___ s
___7/4___ —
\MMullion Tube
.32
I‘ (8l
xFIoor r
STEP EIGHT

Align, mark hole locations, and install bottom bracket.

A. If the mullion post was removed, reinstall and align (see step 6).

Once the mullion post and bottom bracket have been properly aligned, mark the four hole locations.
Carefully remove the mullion post and the bottom bracket.

Drill and prepare the mounting holes as needed for the type of floor.

moow

If using the provided machine screw anchors for masonry applications, drill a 5/8” diameter hole by 1-1/8” deep. Use stand-
ard practices for installing and securing the anchor.

F. Secure the bottom bracket to the floor using four of the 5/16”-18 x 1-1/2” flat socket head cap machine screws.

7 T
DOOI’\ Cutaway shows

mullion post inserted
| / into bottom bracket.
| 5/16"-18 x 1-1/2" Bolts (4)

Top
/Fitting / Anchor as needed
Floor:

depending on type of
ﬂogr or tf?reshgg.

r

7
/

®
®
®
D Masonry anchors
I T I provideé (4).
| i Mullion
i i Post
o, L
f ]— Door- | T
| | E 2 % I I
| | Bottom i i ﬁd'd Ethé?s 2 af chﬁt
ei rovided).
i Bracket I I / g 2
Floor: u u

Rev 3, Rev Date: 07/31/2020 Page 9 of 10
Hager Companies 139 Victor Street, St. Louis, MO 63104 (800) 325-9995 www.hagerco.com



4900 Series Removable Mullions
Il HAGE Re Installation Instructions

COMPANIES I'ED01037

STEP NINE

Replace the mullion post into the

bottom bracket and pivot thetop  peor
upward so it latches in place. The
mullion post should snap firmly

into the top bracket. If there is

Add Shims to adjust

I/ height (2 provided).

too much gap (1/8” or more be-

tween mullion post and top | |

I

I

I

I

l I
bracket), install shims provided to l
raise the bottom bracket. /

Floor

STEP TEN

The Non-Keyed Removable Mullion is removed by inserting a Phillips screwdriver into the crosshair spindle located on the face of
the top fitting. The Keyed Removable Mullion is removed by turning the key of the cylinder located on the face of the top fitting.
Rotate the spindle or turn the key to ensure the mullion is easily removed. Reinstall the mullion to make sure it smoothly snaps
into place. Install the two #10-24 x 3/8” machine screws to secure the top fitting/mullion post to the top bracket.

#10-24 x 3/8" Flat
Head Machine Screws
(2 Places)

\ Use a Phillips screwdriver (as

shown for Non-Keyed Removable
Q Mullions [4900U) or the cylinder
key (for Keyed Removable Mullins
[4900X]) to remove the mullion.
Be sure to remove the #10-24 x
3/8” machine screws first.

Rev 3, Rev Date: 07/31/2020 Page 10 of 10
Hager Companies 139 Victor Street, St. Louis, MO 63104 (800) 325-9995 www.hagerco.com



